=EXTOL
8791900

NN
P
AFHENNS
(1 COME A=
X NN
—

{
[ avErEes &
T “,\,\\} :




order No. set order

description popis qty/ks : /obj.¢islo No./ obj.

dilu ¢islo sady
1 Battery pack holder - left drzak baterie - levy 1
2 Electric grade chip socket zasuvka - kontakty na zasunuti baterie 2
3 Battery packinsert AKU baterie 2
4 Controller assembly fidici jednotka 1
5 | Battery pack holder - right drzéak baterie - pravy 1
6 | Two handed handle wire propojovaci drat 1
7 screws ST4.2*16 Sroub 15
8  Right side cover prava krytka 1
9 | Rearright casing pravé pouzdro 1
10 | screws ST4.2*10 Sroub 8
11 Crimping plate svérka 1
12 Limit pin omezovaci kolik 1
13 Rear left casing levé pouzdro 1
14 | screws ST2.2x4.5 Sroub 6
15  Battery board indikator baterii 1
16  Display board deska displeje 1
17 : Right side cover levd krytka 1
18  Single shoulder strap ramenni popruh 1
19  Bicycle handle rukojet 1
20 : control panel kontrolni panel 1
21  Switch board of irrigation machine spinaci deska 1
22 Aluminum pipe clamp trubkova svorka 1
23 . screws M5x25 Sroub 8
24 | Pressing block on the fixed seat of the handle pfitlacny blok pro upevnéni rukojeti 1
25 ' Lifting Ring Assembly zvedaci krouzek 1
26 | Locknut matice 2
27 : Sponge jacket molitanové pouzdro 1
28 : screws M5x16 Sroub 1
29 : Middle pressure block of handle fixing seat stfedni cast bloku pro upevnéni 1
30 : Lower pressing block of handle fixing seat spodni ¢ast bloku pro upevnéni 1
31 | Frontrear tube zadni trubka 1
32 | screws M4x6 Sroub 1
33 | New quick replacement (without bearings) rychlosvérka 1
34 ' Three wire high current plug 3 pin zastrcka 1
35 | Anterior tube predni trubka 1
36 : Three wire high current socket 3 pin zésuvka 1
37 : Grass guard connecting plate (front) predni spojovaci deska 1
38  screws M6x25 Sroub 2
39  screws M5x30 Sroub 1
40  Right cover shell - dual handle prava krytka rukojeté 1
41 : Speed control switch spinac ovladani rychlosti 1
42  Trigger control button spring pruzina tlacitka ovladani spousté 1
43 | Trigger control knob - dual handle ovladaci knoflik spousté 1




order No. set order

description popis qty/ks : /obj.¢islo No./ obj.

dilu ¢islo sady
44  Trigger - Dual Handle spoust 1
45 | Left cover shell - dual handle leva krytka rukojeté 1
46 : Grass head assembly/lightweight strunova hlava 1
47 | Electrical machinery AKU motor 1
48 : Upper pressure plate horni pfitla¢nd deska 1
49 | Lower pressure plate dolni pfitlacna deska 1
50 Blade protective cover ochranny kryt ¢epele 1
51 | Lock nut (left-hand rotation) matice 1
52 : Small blade mala cepel 1
53 ' Cross pan head tapping screw ST4.2X9.5 sroub 2
54  Straw cover ochranny kryt 1
55  Three tooth blade Cepel 1




